restart
SolGral = y(x)z- (I =y(x))=(x —_C])2

SolGral :Zy(x)2 (1 =y(x))=(x—_CI)
DerSolGral = diff (SolGral, x)

DerSolGral:=2 y(x) (1 —y(x)) (%y(x)) —y(X)2 (

Para = isolate( DerSolGral, CI)

& |

Para:=_Cl=-y(x) (1 =p(x) (o= y(x)j + Ay (i y(x)j +x

SolGral
y(x)* (1 =p(x)) = (x—_CI)?
EcuaDif := subs(_CI =rhs(Para), SolGral)

EeuaDif:=y(x)” (1 =y(x)) = (y0x) (1 =y(x)) (0000 | = 5 o0 (5o
DerDerSolGral = isolate( DerSolGral, diff (y(x), x))
DerDerSolGral = d y(x) = 2x=2 CI 3
dx 2y(x) (1 =p(x)) —y(x)

Comprobar = simplify(subs (diff (y(x), x) =rhs(DerDerSolGral), EcuaDif) )
Comprobar := —y(x)2 (-1+yx))=(-x+_CI )2
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